

NEPTUNE CAMPUS, NEAR ATLANTIS HEIGHTS, DR.VIKRAM SARABHAI MARG, VADIWADI, VADODARA,GUJARAT, 390007 Ph.No.: 0265-2350630/39 Website: www.neptunerealtygroup.com

WORK ORDER

WO No.

137

SHIP TO:

WO Date:

12/10/2021

NEPTUNE REALTY PVT. LTD.

Contractor Name

Krishna Associates

NEPTUNE TRION EXP

Address:

S/B-14, Indra Complex,, Manjalpur,

NEPTUNE CAMPUS,

Vadodara

NR. ATLANTIS HEIGHTS,

GORWA ROAD, VADODARA

Contact No

WO Title

PAN:

GST:

GST No:

24AAACN9837D1ZI

Gujarat

We have pleasure in placing with you our Work order for the following contract kindly execute the work as per the instruction given by our site incharge.

Sr.No	Item Description	Qty	Unit	Rate Rs.	Amount	GST 9	%
1	TOWER A LOWER BASEMENT RCC WORK FOR						
	SLAB_BASEMENT						
	LABOUR FOR RCC BASEMENT	31,139.73	SQFT	203.00	6321365.19	18	9
2	TOWER A LOWER BASEMENT INTERNAL						
	SINGLE COAT PLASTER						
	LABOUR FOR INTERNAL PLASTER BASEMENT	31,139.73	SQFT	87.00	2709156.51	18	9
	(SQFT)						
3	TOWER A UPPER BASEMENT RCC WORK FOR						
	SLAB BASEMENT						
	LABOUR FOR RCC BASEMENT	8,417.41	SQFT	203.00	1708734.23	18	9
4	TOWER A UPPER BASEMENT INTERNAL						
	SINGLE COAT PLASTER						
	LABOUR FOR INTERNAL PLASTER BASEMENT	31,172.07	SQFT	87.00	2711970.09	18	9
_	(SQFT)						
5	TOWER A GROUND FLOOR 4.5" AAC BLOCK						
	MASONRY WORK LABOUR FOR BLOCK WORK (SQFT)	14,628.76	SOFT	43.00	629036.68	18	9
,	, , ,	14,020.70	JQI I	43.00	027030.00	10	
6	TOWER A GROUND FLOOR RCC WORK FOR SLAB						
	LABOUR FOR RCC	4,628.76	SQFT	165.00	763745.40	18	9
7		4,020.70	JQ1 1	103.00	703743.40	10	
/	TOWER A GROUND FLOOR EXTERNAL DOUBLE COAT PLASTER						
	LABOUR FOR PLASTER (SQFT)	14,628.76	SOFT	39.00	570521.64	18	9
8	, , ,	14,020.70	JQI I	37.00	370321.04	10	
0	TOWER A GROUND FLOOR INTERNAL MALA FINISH PLASTER						
	LABOUR FOR PLASTER (SQFT)	14,628.76	SOFT	43.00	629036.68	18	9
9	TOWER A 1ST FLOOR 4.5" AAC BLOCK	11,020.70	JQ: 1	13,00	027030.00		
7	MASONRY WORK						
	LABOUR FOR BLOCK WORK (SQFT)	14,720.31	SQFT	43.00	632973.33	18	9
10	TOWER A 1ST FLOOR RCC WORK FOR SLAB	,, 2010 :			332773133		
10	LABOUR FOR RCC	3.75	SQFT	165.00	618.75	18	9
11		3./3	JŲI I	103,00	010.75	10	7
11	TOWER A 1ST FLOOR EXTERNAL DOUBLE						
	COAT PLASTER WORK	14,720.31	SOFT	39.00	574092.09	18	9
	LABOUR FOR PLASTER (SQFT)	14,720.31	SQFT	39.00	3/4092.09	16	,

12	TOWER A 1ST FLOOR INTERNAL MALA FINISH PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	14,720.31	SQFT	43.00	632973.33	18	
13	TOWER A 2ND FLOOR 4.5" AAC BLOCK						_
	MASONRY WORK						
	LABOUR FOR BLOCK WORK (SQFT)	15,336.47	SQFT	43.00	659468.21	18	_
4	TOWER A 2ND FLOOR RCC WORK FOR SLAB						
	LABOUR FOR RCC	15,336.47	SQFT	165.00	2530517.55	18	_
5	TOWER A 2ND FLOOR RCC WORK FOR SLAB						
	LABOUR FOR RCC	537.50	SQFT	145.00	77937.50	18	_
ipc.	Additional rate due to Double height staging for front portion and back portion of 2nd Floor Stab						
6	TOWER A 2ND FLOOR EXTERNAL DOUBLE COAT PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	15,336.47	SQFT	39.00	598122.33	18	
7	TOWER A 2ND FLOOR INTERNAL MALA						
	FINISH PLASTER WORK	4E 22/ 47	COET	43.00	450.449.34	40	
8	LABOUR FOR PLASTER (SQFT)	15,336.47	SQF I	43.00	659468.21	18	
10	TOWER A 3RD FLOOR 4.5" AAC BLOCK MASONRY WORK						
	LABOUR FOR BLOCK WORK (SQFT)	15,406.30	SQFT	43.00	662470.90	18	
19	TOWER A 3RD FLOOR RCC WORK FOR SLAB -						•
	SQ FT						
	LABOUR FOR RCC	15,406.30	SQFT	165.00	2542039.50	18	
.0	TOWER A 3RD FLOOR EXTERNAL DOUBLE						
	COAT PLASTER WORK LABOUR FOR PLASTER (SQFT)	15,406.30	SQFT	39.00	600845.70	18	
<u>.</u> !1	TOWER A 3RD FLOOR INTERNAL MALA FINISH	15,400.30	JQI I	39.00	000043.70	10	-
. 1	PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	15,406.30	SQFT	43.00	662470.90	18	
22	TOWER A 4TH FLOOR 4.5" AAC BLOCK WORK						•
	LABOUR FOR BLOCK WORK (SQFT)	7,862.17	SQFT	43.00	338073.31	18	
23	TOWER A 4TH FLOOR 4.5" AAC BLOCK WORK						
	LABOUR FOR BLOCK WORK (SQFT)	662.35	SQFT	43.00	28481.05	18	
24	TOWER A 4TH FLOORRCC WORK FOR SLAB						
	LABOUR FOR RCC	662.35	SQFT	165.00	109287.75	18	
25	TOWER A 4TH FLOORRCC WORK FOR SLAB						
	LABOUR FOR RCC	7,862.17	SQFT	165.00	1297258.05	18	
26	TOWER A 4TH FLOOR EXTERNAL DOUBLE						
	COAT PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	7,862.17	SQFT	39.00	306624.63	18	
27	TOWER A 4TH FLOOR EXTERNAL DOUBLE						
	COAT PLASTER WORK	662.35	SQFT	39.00	25831.65	18	
28	TOWER A 4TH FLOOR INTERNAL MALA	002.33	זעו ו	37,00	23031.03	10	-
.0	FINISH PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	662.35	SQFT	43.00	28481.05	18	
9	TOWER A 4TH FLOOR INTERNAL MALA						-
	FINISH PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	7,862.17	SQFT	43.00	338073.31	18	_
30	TOWER A 5TH FLOOR 4.5" AAC BLOCK WORK						
	LABOUR FOR BLOCK WORK (SQFT)	7,508.25	SQFT	43.00	322854.75	18	

31	TOWER A 5TH FLOOR 4.5" AAC BLOCK WORK LABOUR FOR BLOCK WORK (SQFT)					
32		0.27	COET	42.00	402.04	10
32		9.37	SQFT	43.00	402.91	18
	TOWER A 5TH FLOOR RCC WORK FOR SLAB LABOUR FOR RCC	9.37	SQFT	165.00	1544 05	18
33	TOWER A 5TH FLOOR RCC WORK FOR SLAB	7.37	JQF1	165.00	1546.05	
))		7 500 25	COET	145.00	1238861.25	40
34	TOWER A 5TH FLOOR EXTERNAL DOUBLE	7,508.25	SQFT	165.00	1236601.23	18
) '1	COAT PLASTER WORK					
	LABOUR FOR PLASTER (SQFT)	7,508.25	SQFT	39.00	292821.75	18
35	TOWER A 5TH FLOOR EXTERNAL DOUBLE					
	COAT PLASTER WORK					
	LABOUR FOR PLASTER (SQFT)	9.37	SQFT	39.00	365.43	18
36	TOWER A 5TH FLOOR INTERNAL MALA					
	FINISH PLASTER WORK LABOUR FOR PLASTER (SQFT)	9.37	SQFT	43.00	402.91	18
37	TOWER A 5TH FLOOR INTERNAL MALA	7.37	ו וער	73.00	402.71	10
,,	FINISH PLASTER WORK					
	LABOUR FOR PLASTER (SQFT)	7,508.25	SQFT	43.00	322854.75	18
38	TOWER A 6TH FLOOR 4.5" AAC BLOCK WORK					
	LABOUR FOR BLOCK WORK (SQFT)	7,233.10	SQFT	43.00	311023.30	18
39	TOWER A 6TH FLOOR 4.5" AAC BLOCK WORK					
	LABOUR FOR BLOCK WORK (SQFT)	9.16	SQFT	43.00	393.88	18
40	TOWER A 6TH FLOOR RCC WORK FOR SLAB					
	LABOUR FOR RCC	9.16	SQFT	165.00	1511.40	18
<u></u>	TOWER A 6TH FLOOR RCC WORK FOR SLAB			-		
	LABOUR FOR RCC	7,233.10	SQFT	165.00	1193461.50	18
42	TOWER A 6TH FLOOR EXTERNAL DOUBLE	7,2001.0			,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	
_	COAT PLASTER WORK					
	LABOUR FOR PLASTER (SQFT)	7,233.10	SQFT	39.00	282090.90	18
43	TOWER A 6TH FLOOR EXTERNAL DOUBLE					
	COAT PLASTER WORK					
	LABOUR FOR PLASTER (SQFT)	9.16	SQFT	39.00	357.24	18
44	TOWER A 6TH FLOOR INTERNAL MALA					
	FINISH PLASTER WORK LABOUR FOR PLASTER (SQFT)	9.16	SQFT	43.00	393.88	18
	TOWER A 6TH FLOOR INTERNAL MALA	7.10		13,00	373.00	
-	FINISH PLASTER WORK					
	LABOUR FOR PLASTER (SQFT)	7,233.10	SQFT	43.00	311023.30	18
46	TOWER A 7TH FLOOR 4.5" AAC BLOCK WORK					
	LABOUR FOR BLOCK WORK (SQFT)	7,032.52	SQFT	43.00	302398.36	18
47	TOWER A 7TH FLOOR 4.5" AAC BLOCK WORK					
	LABOUR FOR BLOCK WORK (SQFT)	9.16	SQFT	43.00	393.88	18
48	TOWER A 7TH FLOOR RCC WORK FOR SLAB					
	LABOUR FOR RCC	9.16	SQFT	165.00	1511.40	18
19	TOWER A 7TH FLOOR RCC WORK FOR SLAB					
	LABOUR FOR RCC	7,032.52	SQFT	165.00	1160365.80	18
50	TOWER A 7TH FLOOR EXTERNAL DOUBLE	·				
	COAT PLASTER WORK					
	LABOUR FOR PLASTER (SQFT)	7,032.52	SQFT	39.00	274268.28	18
						
51	TOWER A 7TH FLOOR EXTERNAL DOUBLE					

	per the instruction given by our site incharge.						
52	TOWER A 7TH FLOOR INTERNAL MALA						
	FINISH PLASTER WORK LABOUR FOR PLASTER (SQFT)	9.16	SQFT	43.00	393.88	18	
3	TOWER A 7TH FLOOR INTERNAL MALA	7.10	30.1	13.00			-
	FINISH PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	7,032.52	SQFT	43.00	302398.36	18	
4	TOWER A 8TH FLOOR 4.5" AAC BLOCK WORK						
	LABOUR FOR BLOCK WORK (SQFT)	6,904.10	SQFT	43.00	296876.30	18	
5	TOWER A 8TH FLOOR 4.5" AAC BLOCK WORK						
	LABOUR FOR BLOCK WORK (SQFT)	8.98	SQFT	43.00	386.14	18	
5	TOWER A 8TH FLOOR RCC WORK FOR SLAB						
	LABOUR FOR RCC	8.98	SQFT	165.00	1481.70	18	
7	TOWER A 8TH FLOOR RCC WORK FOR SLAB						
	LABOUR FOR RCC	6,904.10	SQFT	165.00	1139176.50	18	
3	TOWER A 8TH FLOOR EXTERNAL DOUBLE						
	COAT PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	6,904.10	SQFT	39.00	269259.90	18	-
9	TOWER A 8TH FLOOR EXTERNAL DOUBLE COAT PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	8.98	SQFT	39.00	350.22	18	
0	TOWER A 8TH FLOOR INTERNAL MALA						-
	FINISH PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	8.98	SQFT	43.00	386.14	18	
1	TOWER A 8TH FLOOR INTERNAL MALA						
	FINISH PLASTER WORK		COFT	42.00	20/07/ 20	40	
	LABOUR FOR PLASTER (SQFT)	6,904.10	SQFT	43.00	296876.30	18	-
2	TOWER A 9TH FLOOR 4.5" AAC BLOCK WORK		COFT	42.00	20.4700.45	40	
	LABOUR FOR BLOCK WORK (SQFT)	6,855.55	SQFT	43.00	294788.65	18	-
3	TOWER A 9TH FLOOR 4.5" AAC BLOCK WORK	44.42	COFT	42.00	470.44		
_	LABOUR FOR BLOCK WORK (SQFT)	11.12	SQFT	43.00	478.16	18	-
4	TOWER A 9TH FLOOR RCC WORK FOR SLAB						
_	LABOUR FOR RCC	11.12	SQFT	165.00	1834.80	18	-
5	TOWER A 9TH FLOOR RCC WORK FOR SLAB						
	LABOUR FOR RCC	6,855.55	SQFT	165.00	1131165.75	18	-
6	TOWER A 9TH FLOOR EXTERNAL DOUBLE COAT PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	6,855.55	SQFT	39.00	267366.45	18	
7	TOWER A 9TH FLOOR EXTERNAL DOUBLE	.,					
	COAT PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	11.12	SQFT	39.00	433.68	18	
8	TOWER A 9TH FLOOR INTERNAL MALA						
	FINISH PLASTER WORK	44.42	COFT	42.00	470.44	40	
	LABOUR FOR PLASTER (SQFT)	11.12	SQFT	43.00	478.16	18	-
9	TOWER A 9TH FLOOR INTERNAL MALA FINISH PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	6,855.55	SQFT	43.00	294788.65	18	
0	TOWER A 10TH FLOOR 4.5" AAC BLOCK	,	<u> </u>				-
	WORK						
	LABOUR FOR BLOCK WORK (SQFT)	6,893.43	SQFT	43.00	296417.49	18	_
' 1	TOWER A 10TH FLOOR 4.5" AAC BLOCK						
	WORK						

2	TOWER A 10TH FLOOR RCC WORK FOR SLAB						
	LABOUR FOR RCC	12.16	SQFT	165.00	2006.40	18	
3	TOWER A 10TH FLOOR RCC WORK FOR SLAB						
	LABOUR FOR RCC	6,893.43	SQFT	165.00	1137415.95	18	
1	TOWER A 10TH FLOOR EXTERNAL DOUBLE						
	COAT PLASTER WORK	(902 42	COET	20.00	2/00/2 77	40	
	LABOUR FOR PLASTER (SQFT)	6,893.43	SQFT	39.00	268843.77	18	_
)	TOWER A 10TH FLOOR EXTERNAL DOUBLE COAT PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	12.16	SQFT	39.00	474.24	18	
5	TOWER A 10TH FLOOR INTERNAL MALA						
	FINISH PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	12.16	SQFT	43.00	522.88	18	_
7	TOWER A 10TH FLOOR INTERNAL MALA FINISH PLASTER WORK						
8	LABOUR FOR PLASTER (SQFT)	6,893.43	SQFT	43.00	296417.49	18	
<u> </u>	TOWER A 11TH FLOOR 4.5" AAC BLOCK	· · · · · · · · · · · · · · · · · · ·					-
	WORK						
	LABOUR FOR BLOCK WORK (SQFT)	7,017.05	SQFT	43.00	301733.15	18	
9	TOWER A 11TH FLOOR 4.5" AAC BLOCK						
	WORK LABOUR FOR BLOCK WORK (SQFT)	11.01	SQFT	43.00	473.43	18	
	TOWER A 11TH FLOOR RCC WORK FOR SLAB	11.01	JQI I	43.00	775.75	- 10	-
,	LABOUR FOR RCC	11.01	SQFT	165.00	1816.65	18	
1	TOWER A 11TH FLOOR RCC WORK FOR SLAB	11.01	JQI 1	103.00	1010.03	10	-
•	LABOUR FOR RCC	7,017.05	SQFT	165.00	1157813.25	18	
 2	TOWER A 11TH FLOOR EXTERNAL DOUBLE	7,017.03	JQ1 1	103.00	1137013.23		-
_	COAT PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	7,017.05	SQFT	39.00	273664.95	18	
3	TOWER A 11TH FLOOR EXTERNAL DOUBLE						
	COAT PLASTER WORK	44.04	COET	30.00	420.20	40	
4	LABOUR FOR PLASTER (SQFT)	11.01	SQFT	39.00	429.39	18	_
4	TOWER A 11TH FLOOR INTERNAL MALA FINISH PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	11.01	SQFT	43.00	473.43	18	
5	TOWER A 11TH FLOOR INTERNAL MALA						-
	FINISH PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	7,017.05	SQFT	43.00	301733.15	18	_
6	TOWER A 12TH FLOOR 4.5" AAC BLOCK						
	WORK LABOUR FOR BLOCK WORK (SQFT)	7,210.68	SQFT	43.00	310059.24	18	
7	TOWER A 12TH FLOOR 4.5" AAC BLOCK	,		-			-
	WORK						
	LABOUR FOR BLOCK WORK (SQFT)	12.00	SQFT	43.00	516.00	18	
3	TOWER A 12TH FLOOR RCC WORK FOR SLAB						
	LABOUR FOR RCC	12.00	SQFT	165.00	1980.00	18	
)	TOWER A 12TH FLOOR RCC WORK FOR SLAB						
	LABOUR FOR RCC	7,210.68	SQFT	165.00	1189762.20	18	_
0	TOWER A 12TH FLOOR EXTERNAL DOUBLE						
	COAT PLASTER WORK	7 240 49	SOFT	30.00	201214 52	18	
	LABOUR FOR PLASTER (SQFT)	7,210.68	SQFT	39.00	281216.52	18	<u> </u>

91	TOWER A 12TH FLOOR EXTERNAL DOUBLE						
	COAT PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	12.00	SQFT	39.00	468.00	18	
92	TOWER A 12TH FLOOR INTERNAL MALA FINISH PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	12.00	SQFT	43.00	516.00	18	
93	TOWER A 12TH FLOOR INTERNAL MALA						
	FINISH PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	7,210.68	SQFT	43.00	310059.24	18	
94	TOWER A 13TH FLOOR 4.5" AAC BLOCK WORK						
	LABOUR FOR BLOCK WORK (SQFT)	7,455.34	SQFT	43.00	320579.62	18	
95	TOWER A 13TH FLOOR 4.5" AAC BLOCK WORK						
	LABOUR FOR BLOCK WORK (SQFT)	36.32	SQFT	43.00	1561.76	18	
96	TOWER A 13TH FLOOR RCC WORK FOR SLAB						
	LABOUR FOR RCC	36.32	SQFT	165.00	5992.80	18	
97	TOWER A 13TH FLOOR RCC WORK FOR SLAB						
	LABOUR FOR RCC	7,455.34	SQFT	165.00	1230131.10	18	
98	TOWER A 13TH FLOOR EXTERNAL DOUBLE	<u>, , , , , , , , , , , , , , , , , , , </u>	<u> </u>				
	COAT PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	7,455.34	SQFT	39.00	290758.26	18	
99	TOWER A 13TH FLOOR EXTERNAL DOUBLE						
	COAT PLASTER WORK	-					
	LABOUR FOR PLASTER (SQFT)	36.32	SQFT	39.00	1416.48	18	_
00	TOWER A 13TH FLOOR INTERNAL MALA						
	FINISH PLASTER WORK LABOUR FOR PLASTER (SQFT)	36.32	SQFT	43.00	1561.76	18	
01	TOWER A 13TH FLOOR INTERNAL MALA	30.32	JQ: 1	13,00	1301.70	- 10	
01	FINISH PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	7,455.34	SQFT	43.00	320579.62	18	
02	TOWER A 14TH FLOOR 4.5" AAC BLOCK						
	WORK						
	LABOUR FOR BLOCK WORK (SQFT)	7,822.27	SQFT	43.00	336357.61	18	
03	TOWER A 14TH FLOOR 4.5" AAC BLOCK						
	WORK LABOUR FOR BLOCK WORK (SQFT)	16.41	SQFT	43.00	705.63	18	
04	TOWER A 14TH FLOOR RCC WORK FOR SLAB	13.11		.5,55	, 55.65		
	LABOUR FOR RCC	16.41	SQFT	165.00	2707.65	18	
05	TOWER A 14TH FLOOR RCC WORK FOR SLAB	10.41	JQI 1	103.00	2707.03	10	_
UJ		7 022 27	COET	145.00	1200674 EE	10	
01	LABOUR FOR RCC	7,822.27	SQFT	165.00	1290674.55	18	_
06	TOWER A 14TH FLOOR EXTERNAL DOUBLE COAT PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	7,822.27	SQFT	39.00	305068.53	18	
07	TOWER A 14TH FLOOR EXTERNAL DOUBLE	<u> </u>	-				
	COAT PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	16.41	SQFT	39.00	639.99	18	
08	TOWER A 14TH FLOOR INTERNAL MAL FINISH						
	PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	16.41	SQFT	43.00	705.63	18	
09	TOWER A 14TH FLOOR INTERNAL MAL FINISH						
	PLASTER WORK						

as p	per the instruction given by our site incharge.						
110	TOWER A 15TH FLOOR 4.5" AAC BLOCK WORK						
	LABOUR FOR BLOCK WORK (SQFT)	8,247.65	SQFT	43.00	354648.95	18	
111	TOWER A 15TH FLOOR 4.5" AAC BLOCK WORK						
	LABOUR FOR BLOCK WORK (SQFT)	20.58	SQFT	43.00	884.94	18	
112	TOWER A 15TH FLOOR RCC WORK FOR SLAB						
	LABOUR FOR RCC	20.58	SQFT	165.00	3395.70	18	
113	TOWER A 15TH FLOOR RCC WORK FOR SLAB						
	LABOUR FOR RCC	8,247.65	SQFT	165.00	1360862.25	18	
114	TOWER A 15TH FLOOR EXTERNAL DOUBLE						
	COAT PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	8,247.65	SQFT	39.00	321658.35	18	
115	TOWER A 15TH FLOOR EXTERNAL DOUBLE						
	COAT PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	20.58	SQFT	39.00	802.62	18	
116	TOWER A 15TH FLOOR INTERNAL MALA						
	FINISH PLASTER WORK	20 59	COET	43.00	994.04	40	
447	LABOUR FOR PLASTER (SQFT)	20.58	SQFT	43.00	884.94	18	
117	TOWER A 15TH FLOOR INTERNAL MALA FINISH PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	8,247.65	SQFT	43.00	354648.95	18	
118	TOWER A 16TH FLOOR 4.5" AAC BLOCK						
	MASONRY WORK						
	LABOUR FOR BLOCK WORK (SQFT)	8,768.76	SQFT	43.00	377056.68	18	
119	TOWER A 16TH FLOOR 4.5" AAC BLOCK						
	MASONRY WORK						
	LABOUR FOR BLOCK WORK (SQFT)	17.07	SQFT	43.00	734.01	18	
120	TOWER A 16TH FLOOR RCC WORK FOR SLAB						
	LABOUR FOR RCC	17.07	SQFT	165.00	2816.55	18	
121	TOWER A 16TH FLOOR RCC WORK FOR SLAB						
	LABOUR FOR RCC	8,768.76	SQFT	165.00	1446845.40	18	
122	TOWER A 16TH FLOOR EXTERNAL DOUBLE						
	COAT PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	8,768.76	SQFT	39.00	341981.64	18	
123	TOWER A 16TH FLOOR EXTERNAL DOUBLE						
	COAT PLASTER WORK				445.50		
	LABOUR FOR PLASTER (SQFT)	17.07	SQFT	39.00	665.73	18	
124	TOWER A 16TH FLOOR INTERNAL MALA						
	FINISH PLASTER WORK LABOUR FOR PLASTER (SQFT)	17.07	SQFT	43.00	734.01	18	
125	TOWER A 16TH FLOOR INTERNAL MALA	17.07	30,1	13,00	751.01		_
123	FINISH PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	8,768.76	SQFT	43.00	377056.68	18	
126	TOWER A 17TH FLOOR 4.5" AAC BLOCK	<u> </u>					
	MASONRY WORK						
	LABOUR FOR BLOCK WORK (SQFT)	9,377.07	SQFT	43.00	403214.01	18	
127	TOWER A 17TH FLOOR 4.5" AAC BLOCK						
	MASONRY WORK						
	LABOUR FOR BLOCK WORK (SQFT)	20.97	SQFT	43.00	901.71	18	
128	TOWER A 17TH FLOOR RCC WORK FOR SLAB						
	LABOUR FOR RCC	20.97	SQFT	165.00	3460.05	18	

	per the instruction given by our site incharge.						
29	TOWER A 17TH FLOOR RCC WORK FOR SLAB						
	LABOUR FOR RCC	9,377.07	SQFT	165.00	1547216.55	18	
0	TOWER A 17TH FLOOR EXTERNAL DOUBLE						
	COAT PLASTER WORK	0 277 07	COET	39.00	245705 72	10	
	LABOUR FOR PLASTER (SQFT)	9,377.07	SQFT	39.00	365705.73	18	
31	TOWER A 17TH FLOOR EXTERNAL DOUBLE COAT PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	20.97	SQFT	39.00	817.83	18	
32	TOWER A 17TH FLOOR INTERNAL MALA	20.77	JQ: 1	37.00	017.03		_
<i>J</i> <u>L</u>	FINISH PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	20.97	SQFT	43.00	901.71	18	
33	TOWER A 17TH FLOOR INTERNAL MALA						
	FINISH PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	9,377.07	SQFT	43.00	403214.01	18	
34	TOWER A TERRACE INTERNAL MALA FINISH						
	PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	1,212.41	SQFT	43.00	52133.63	18	_
35	TOWER A TERRACE INTERNAL MALA FINISH						
35 TC PL L L L L L L L L L L L L L L L L L L	PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	84.29	SQFT	43.00	3624.47	18	
36	TOWER A TERRACE EXTERNAL DOUBLE COAT						
	PLASTER WORK	0.4.20	COFT	20.00	2207.24	40	
	LABOUR FOR PLASTER (SQFT)	84.29	SQFT	39.00	3287.31	18	
37	TOWER A TERRACE EXTERNAL DOUBLE COAT						
	PLASTER WORK LABOUR FOR PLASTER (SQFT)	1,212.41	SQFT	39.00	47283.99	18	
20		1,212.41	JQI I	37.00	47203.77	10	
38	TOWER A TERRACE 4.5" AAC BLOCK MASONRY WORK						
	LABOUR FOR BLOCK WORK (SQFT)	1,212.41	SQFT	43.00	52133.63	18	
39	TOWER A TERRACE 4.5" AAC BLOCK	,					
	MASONRY WORK						
	LABOUR FOR BLOCK WORK (SQFT)	84.29	SQFT	43.00	3624.47	18	
40	TOWER A TERRACE RCC WORK FOR SLAB						
	LABOUR FOR RCC	85.29	SQFT	165.00	14072.85	18	
41	TOWER A TERRACE RCC WORK FOR SLAB			-			
•	LABOUR FOR RCC	1,212.41	SQFT	165.00	200047.65	18	
42		1,212,41	JQi i	103.00	2000-7.03	10	_
42	TOWER B LOWER BASEMENT RCC WORK FOR SLAB						
	LABOUR FOR RCC BASEMENT	25,882.24	SQFT	203.00	5254094.72	18	
43	TOWER B LOWER BASEMENT INTERNAL	,					
	SINGLE COAT PLASTER WORK						
	LABOUR FOR INTERNAL PLASTER BASEMENT	25,882.24	SQFT	87.00	2251754.88	18	
	(SQFT)						
44	TOWER B UPPER BASEMENT RCC WORK FOR						
	SLAB	OF 600 5 :		202.00	F0F 400 / F0	4.5	
	LABOUR FOR RCC BASEMENT	25,882.24	SQFT	203.00	5254094.72	18	
45	TOWER B UPPER BASEMENT INTERNAL						
	SINGLE COAT PLASTER WORK	25 002 24	COET	97.00	2254754 00	10	
	LABOUR FOR INTERNAL PLASTER BASEMENT (SQFT)	25,882.24	SQF I	87.00	2251754.88	18	
46	TOWER B GROUND FLOOR 4.5" AAC BLOCK						
	MASONRY WORK						
	LABOUR FOR BLOCK WORK (SQFT)	15,775.45	SOFT	43.00	678344.35	18	

We	have pleasure in placing with you our Work order for t	he following contr	act kindly	execute the work			
	per the instruction given by our site incharge.	3					
147	TOWER B GROUND FLOOR RCC WORK FOR						
	SLAB						
	LABOUR FOR RCC	15,775.45	SQFT	165.00	2602949.25	18	%
148	TOWER B GROUND FLOOR EXTERNAL						
	DOUBLE COAT PLASTER WORK	45 775 45	COLT	20.00	(452.42 FF	40	0/
1.40	LABOUR FOR PLASTER (SQFT)	15,775.45	SQFT	39.00	615242.55	18	%
149	TOWER B GROUND FLOOR INTERNAL MALA FINISH PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	15,775.45	SQFT	43.00	678344.35	18	%
150	TOWER B 1ST FLOOR 4.5" AAC BLOCK	·					
	MASONRY WORK						
	LABOUR FOR BLOCK WORK (SQFT)	15,795.28	SQFT	43.00	679197.04	18	%
151	TOWER B 1ST FLOOR RCC WORK FOR SLAB						
	LABOUR FOR RCC	15,795.28	SQFT	165.00	2606221.20	18	%
152	TOWER B 1ST FLOOR EXTERNAL DOUBLE						
	COAT PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	15,795.28	SQFT	39.00	616015.92	18	%
153	TOWER B 1ST FLOOR INTERNAL MALA FINISH PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	15,795.28	SOFT	43.00	679197.04	18	%
154	TOWER B 2ND FLOOR 4.5" AAC BLOCK	,,,,,,,,					70
	MASONRY WORK						
	LABOUR FOR BLOCK WORK (SQFT)	16,663.85	SQFT	43.00	716545.55	18	%
155	TOWER B 2ND FLOOR RCC WORK FOR SLAB						
	LABOUR FOR RCC	16,663.85	SQFT	165.00	2749535.25	18	%
156	TOWER B 2ND FLOOR RCC WORK FOR SLAB						
	LABOUR FOR RCC	1,008.90	SQFT	145.00	146290.50	18	%
Spc.	Additional rate due to Double height staging						
	for front portion and back portion of 2nd						
	Floor Stab						
157	TOWER B 2ND FLOOR EXTERNAL DOUBLE						
	COAT PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	16,663.85	SQFT	39.00	649890.15	18	%
158	TOWER B 2ND FLOOR INTERNAL MALA FINISH						
	PLASTER WORK LABOUR FOR PLASTER (SQFT)	16,663.85	SOFT	43.00	716545.55	18	%
159	TOWER B 3RD FLOOR 4.5" AAC BLOCK	10,003.03	JQ: 1	10,00	7 103 13.33		70
137	MASONRY WORK						
	LABOUR FOR BLOCK WORK (SQFT)	17,285.38	SQFT	43.00	743271.34	18	%
160	TOWER B 3RD FLOOR RCC WORK FOR SLAB						
	LABOUR FOR RCC	17,285.38	SQFT	165.00	2852087.70	18	%
161	TOWER B 3RD FLOOR EXTERNAL DOUBLE						
	COAT PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	17,285.38	SQFT	39.00	674129.82	18	%
162	TOWER B 3RD FLOOR INTERNAL MALA FINISH						
	PLASTER WORK LABOUR FOR PLASTER (SQFT)	17,285.38	SOFT	43.00	743271.34	18	%
163	TOWER B 4TH FLOOR 4.5" AAC BLOCK	17,203.30	טעו ו	73.00	743271.34	10	/0
103	MASONRY WORK						
	LABOUR FOR BLOCK WORK (SQFT)	9,947.25	SQFT	43.00	427731.75	18	%
164	TOWER B 4TH FLOOR RCC WORK FOR SLAB						
	LABOUR FOR RCC	9,947.25	SQFT	165.00	1641296.25	18	%

65	TOWER B 4TH FLOOR EXTERNAL DOUBLE						
03	COAT PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	9,947.25	SQFT	39.00	387942.75	18	
66	TOWER B 4TH FLOOR INTERNAL MALA FINISH PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	9,947.25	SQFT	43.00	427731.75	18	
67	TOWER B 5TH FLOOR 4.5" AAC BLOCK MASONRY WORK						
	LABOUR FOR BLOCK WORK (SQFT)	9,538.60	SQFT	43.00	410159.80	18	
68	TOWER B 5TH FLOOR RCC WORK FOR SLAB						
	LABOUR FOR RCC	9,538.60	SQFT	165.00	1573869.00	18	
69	TOWER B 5TH FLOOR EXTERNAL DOUBLE COAT PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	9,538.60	SQFT	39.00	372005.40	18	_
70	TOWER B 5TH FLOOR INTERNAL MALA FINISH PLASTER WORK	0.530.40	COET	42.00	440450.80	40	
74	LABOUR FOR PLASTER (SQFT)	9,538.60	SQFT	43.00	410159.80	18	_
71	TOWER B 6TH FLOOR 4.5" AAC BLOCK MASONRY WORK						
	LABOUR FOR BLOCK WORK (SQFT)	9,221.29	SQFT	43.00	396515.47	18	
72	TOWER B 6TH FLOOR RCC WORK FOR SLAB	<u> </u>	<u> </u>				-
	LABOUR FOR RCC	9,221.29	SQFT	165.00	1521512.85	18	
73	TOWER B 6TH FLOOR EXTERNAL DOUBLE	,					-
	COAT PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	9,221.29	SQFT	39.00	359630.31	18	
74	TOWER B 6TH FLOOR INTERNAL MALA FINISH						
	PLASTER WORK	0.224.20	COLL	43.00	20/545 47	40	
7 5	LABOUR FOR PLASTER (SQFT)	9,221.29	SQFT	43.00	396515.47	18	-
75	TOWER B 7TH FLOOR 4.5" AAC BLOCK MASONRY WORK						
	LABOUR FOR BLOCK WORK (SQFT)	8,990.63	SQFT	43.00	386597.09	18	
76	TOWER B 7TH FLOOR RCC WORK FOR SLAB						
	LABOUR FOR RCC	8,990.63	SQFT	165.00	1483453.95	18	
77	TOWER B 7TH FLOOR EXTERNAL DOUBLE COAT PLASTER WORK						-
	LABOUR FOR PLASTER (SQFT)	8,990.63	SQFT	39.00	350634.57	18	
78	TOWER B 7TH FLOOR INTERNAL MALA FINISH PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	8,990.63	SQFT	43.00	386597.09	18	_
79	TOWER B 8TH FLOOR 4.5" AAC BLOCK MASONRY WORK	0.042.00	COFT	42.00	2002 40.00	40	
	LABOUR FOR BLOCK WORK (SQFT)	8,843.00	SQFT	43.00	380249.00	18	-
80	TOWER B 8TH FLOOR RCC WORK FOR SLAB	00.00		44	4 :=000= ==		
04	LABOUR FOR RCC	8,843.00	SQFT	165.00	1459095.00	18	-
81	TOWER B 8TH FLOOR EXTERNAL DOUBLE COAT PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	8,843.00	SQFT	39.00	344877.00	18	
82	TOWER B 8TH FLOOR INTERNAL MALA FINISH PLASTER WORK	,,	-				
	LABOUR FOR PLASTER (SQFT)	8,843.00	SQFT	43.00	380249.00	18	
83	TOWER B 9TH FLOOR 4.5" AAC BLOCK MASONRY WORK						
	LABOUR FOR BLOCK WORK (SQFT)	8,781.27	SQFT	43.00	377594.61	18	

84	TOWER B 9TH FLOOR RCC WORK FOR SLAB						
04	LABOUR FOR RCC	8,781.27	SQFT	165.00	1448909.55	18	
85	TOWER B 9TH FLOOR EXTERNAL DOUBLE	5,701.27	30.	100,00	1110707.33		_
	COAT PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	8,781.27	SQFT	39.00	342469.53	18	
86	TOWER B 9TH FLOOR INTERNAL MALA FINISH						_
	PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	8,781.27	SQFT	43.00	377594.61	18	
87	TOWER B 10TH FLOOR 4.5" AAC BLOCK						
	MASONRY WORK						
	LABOUR FOR BLOCK WORK (SQFT)	8,834.31	SQFT	43.00	379875.33	18	_
88	TOWER B 10TH FLOOR RCC WORK FOR SLAB						
	LABOUR FOR RCC	8,834.31	SQFT	165.00	1457661.15	18	
89	TOWER B 10TH FLOOR EXTERNAL DOUBLE						
	COAT PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	8,834.31	SQFT	39.00	344538.09	18	_
90	TOWER B 10TH FLOOR INTERNAL MALA						
	FINISH PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	8,834.31	SQFT	43.00	379875.33	18	-
91	TOWER B 11TH FLOOR 4.5" AAC BLOCK						
	MASONRY WORK	9 074 21	SQFT	43.00	385891.03	18	
02	LABOUR FOR BLOCK WORK (SQFT)	8,974.21	3QF1	43.00	363691.03	10	-
92	TOWER B 11TH FLOOR RCC WORK FOR SLAB						
	LABOUR FOR RCC	8,974.21	SQFT	165.00	1480744.65	18	-
93	TOWER B 11TH FLOOR EXTERNAL DOUBLE						
	COAT PLASTER WORK	0.074.24	COET	30.00	240004 40	40	
<u> </u>	LABOUR FOR PLASTER (SQFT)	8,974.21	SQFT	39.00	349994.19	18	-
94	TOWER B 11TH FLOOR INTERNAL MALA FINISH PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	8,974.21	SQFT	43.00	385891.03	18	
95	TOWER B 12TH FLOOR 4.5" AAC BLOCK	3,77 1.21	JQ 1	13,00	303071.03		-
73	MASONRY WORK						
	LABOUR FOR BLOCK WORK (SQFT)	9,200.23	SQFT	43.00	395609.89	18	
96	TOWER B 12TH FLOOR RCC WORK FOR SLAB	·					-
	LABOUR FOR RCC	9,200.23	SQFT	165.00	1518037.95	18	
97	TOWER B 12TH FLOOR EXTERNAL DOUBLE	7,200.25	JQI I	105.00	1310037.73	- 10	
71	COAT PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	9,200.23	SQFT	39.00	358808.97	18	
98	TOWER B 12TH FLOOR INTERNAL MALA	·					
	FINISH PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	9,200.23	SQFT	43.00	395609.89	18	
99	TOWER B 13TH FLOOR 4.5" AAC BLOCK						
	MASONRY WORK						
	LABOUR FOR BLOCK WORK (SQFT)	9,507.45	SQFT	43.00	408820.35	18	
00	TOWER B 13TH FLOOR RCC WORK FOR SLAB						
	LABOUR FOR RCC	9,507.45	SQFT	165.00	1568729.25	18	
01	TOWER B 13TH FLOOR EXTERNAL DOUBLE						
	COAT PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	9,507.45	SQFT	39.00	370790.55	18	
02	TOWER B 13TH FLOOR INTERNAL MALA						
	FINISH PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	9,507.45	SQFT	43.00	408820.35	18	

as p	per the instruction given by our site incharge.						
203	TOWER B 14TH FLOOR 4.5" AAC BLOCK MASONRY WORK						
	LABOUR FOR BLOCK WORK (SQFT)	9,908.57	SQFT	43.00	426068.51	18	
204	TOWER B 14TH FLOOR RCC WORK FOR SLAB	.,		-			
	LABOUR FOR RCC	9,908.57	SQFT	165.00	1634914.05	18	
205	TOWER B 14TH FLOOR EXTERNAL DOUBLE	.,		111111			
	COAT PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	9,908.57	SQFT	39.00	386434.23	18	
206	TOWER B 14TH FLOOR INTERNAL MALA						
	FINISH PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	9,908.57	SQFT	43.00	426068.51	18	
207	TOWER B 15TH FLOOR 4.5" AAC BLOCK						
	MASONRY WORK LABOUR FOR BLOCK WORK (SQFT)	10,406.66	SOFT	43.00	447486.38	18	
208	TOWER B 15TH FLOOR RCC WORK FOR SLAB	10, 100.00	30, 1	13,00	117 100.30		
200	LABOUR FOR RCC	10,406.66	SOFT	165.00	1717098.90	18	
209		10,400.00	3QF1	165,00	1717096.90	10	_
209	TOWER B 15TH FLOOR EXTERNAL DOUBLE COAT PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	10,406.66	SQFT	39.00	405859.74	18	
210	TOWER B 15TH FLOOR INTERNAL MALA	·					
	FINISH PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	10,406.66	SQFT	43.00	447486.38	18	
211	TOWER B 16TH FLOOR 4.5" AAC BLOCK						
	MASONRY WORK						
	LABOUR FOR BLOCK WORK (SQFT)	11,008.92	SQFT	43.00	473383.56	18	
212	TOWER B 16TH FLOOR RCC WORK FOR SLAB						
	LABOUR FOR RCC	11,008.92	SQFT	165.00	1816471.80	18	
213	TOWER B 16TH FLOOR EXTERNAL DOUBLE						
	COAT PLASTER WORK LABOUR FOR PLASTER (SQFT)	11,008.92	SOFT	39.00	429347.88	18	
214	TOWER B 16TH FLOOR INTERNAL MALA	11,000.72	3Qi 1	37.00	427347.00	10	
Z 1 4	FINISH PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	11,008.92	SQFT	43.00	473383.56	18	
215	TOWER B 17TH FLOOR 4.5" AAC BLOCK						
	MASONRY WORK						
	LABOUR FOR BLOCK WORK (SQFT)	11,723.51	SQFT	43.00	504110.93	18	
216	TOWER B 17TH FLOOR RCC WORK FOR SLAB						
	LABOUR FOR RCC	11,723.51	SQFT	165.00	1934379.15	18	
217	TOWER B 17TH FLOOR EXTERNAL DOUBLE						
	COAT PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	11,723.51	SQFT	39.00	457216.89	18	
218	TOWER B 17TH FLOOR INTERNAL MALA						
	FINISH PLASTER WORK LABOUR FOR PLASTER (SQFT)	11,723.51	SQFT	43.00	504110.93	18	
219	TOWER B TERRACE 4.5" AAC BLOCK	11,723.31	3Qi 1	43.00	304110.73	10	
217	MASONRY WORK						
	LABOUR FOR BLOCK WORK (SQFT)	2,325.25	SQFT	43.00	99985.75	18	
220	TOWER B TERRACE RCC WORK FOR SLAB						
	LABOUR FOR RCC	2,325.25	SQFT	165.00	383666.25	18	
221	TOWER B TERRACE INTERNAL MALA FINISH	, -	-	<u> </u>			
	PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	2,325.25	SQFT	43.00	99985.75	18	

We	have pleasure in placing with you our Work order for t	the following contra	act kindlv	execute the work			
	per the instruction given by our site incharge.		midty	The state of the s			
222	TOWER B TERRACE EXTERNAL DOUBLE COAT						
	PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	2,325.25	SQFT	39.00	90684.75	18	%
223	TOWER C LOWER BASEMENT RCC WORK SLAB						
	BASEMENT LABOUR FOR RCC BASEMENT	25,378.27	SOFT	203.00	5151788.81	18	%
224	TOWER C LOWER BASEMENT INTERNAL	20,070.27			0.0.700.0.		
	SINGLE COAT PLASTER WORK						
	LABOUR FOR INTERNAL PLASTER BASEMENT	25,405.72	SQFT	87.00	2210297.64	18	%
	(SQFT)						
225	TOWER C UPPER BASEMENT RCC WORK FOR						
	FOR SLAB_BASEMENT LABOUR FOR RCC BASEMENT	25,378.27	SOFT	203.00	5151788.81	18	%
226	TOWER C UPPER BASEMENT INTERNAL						
	SINGLE COAT PLASTER WORK						
	LABOUR FOR INTERNAL PLASTER BASEMENT	25,405.72	SQFT	87.00	2210297.64	18	%
	(SQFT)						
227	TOWER C GROUND FLOOR 4.5" AAC BLOCK MASONRY WORK						
	LABOUR FOR BLOCK WORK (SQFT)	15,852.37	SQFT	43.00	681651.91	18	%
228	TOWER C GROUND FLOOR RCC WORK FOR	,	-				
	SLAB						
	LABOUR FOR RCC	15,852.37	SQFT	165.00	2615641.05	18	%
229	TOWER C GROUND FLOOR EXTERNAL						
	DOUBLE COAT PLASTER WORK	45 052 27	COLL	20.00	(402.42.42	40	0/
220	LABOUR FOR PLASTER (SQFT)	15,852.37	SQFT	39.00	618242.43	18	%
230	TOWER C GROUND FLOOR INTERNAL MALA FINISH PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	15,852.37	SQFT	43.00	681651.91	18	%
231	TOWER C 1ST FLOOR 4.5" AAC BLOCK						
	MASONRY WORK						
	LABOUR FOR BLOCK WORK (SQFT)	15,852.39	SQFT	43.00	681652.77	18	%
232	TOWER C 1ST FLOOR RCC WORK FOR SLAB						
	LABOUR FOR RCC	15,852.39	SQFT	165.00	2615644.35	18	%
233	TOWER C 1ST FLOOR EXTERNAL DOUBLE						
	COAT PLASTER WORK	15,852.39	COET	30.00	419242 21	10	0/
234	LABOUR FOR PLASTER (SQFT)	15,652.39	3QF I	39.00	618243.21	18	%
234	TOWER C 1ST FLOOR INTERNAL MALA FINISH PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	15,852.39	SQFT	43.00	681652.77	18	%
235	TOWER C 2ND FLOOR 4.5" AAC BLOCK						
	MASONRY WORK						
	LABOUR FOR BLOCK WORK (SQFT)	16,702.31	SQFT	43.00	718199.33	18	%
236	TOWER C 2ND FLOOR RCC WORK FOR SLAB						
	LABOUR FOR RCC	16,702.31	SQFT	165.00	2755881.15	18	%
237	TOWER C 2ND FLOOR RCC WORK FOR SLAB						
	LABOUR FOR RCC	608.56	SQFT	145.00	88241.20	18	%
Spc.	Additional rate due to Double height staging						
	for front portion and back portion of 2nd						
	Floor Stab						
238	TOWER C 2ND FLOOR EXTERNAL DOUBLE						
	COAT PLASTER WORK LABOUR FOR PLASTER (SQFT)	16,702.31	SOFT	39.00	651390.09	18	%
	ENDOUGH ENDIER (DQLT)	10,702.31	عرب ا	37,00	551570.07	10	/0

as p	per the instruction given by our site incharge.						
239	TOWER C 2ND FLOOR INTERNAL MALA FINISH PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	16,702.31	SQFT	43.00	718199.33	18	
40	TOWER C 3RD FLOOR 4.5" AAC BLOCK MASONRY WORK						
	LABOUR FOR BLOCK WORK (SQFT)	16,329.58	SQFT	43.00	702171.94	18	
41	TOWER C 3RD FLOOR RCC WORK FOR SLAB						-
	LABOUR FOR RCC	16,329.58	SOFT	165.00	2694380.70	18	
42	TOWER C 3RD FLOOR EXTERNAL DOUBLE	10,327.30	30, 1	103.00	207-300.70		-
72	COAT PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	16,329.58	SQFT	39.00	636853.62	18	
43	TOWER C 3RD FLOOR INTERNAL MALA FINISH	·					-
	PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	16,329.58	SQFT	43.00	702171.94	18	
44	TOWER C 4TH FLOOR 4.5" AAC BLOCK						
	MASONRY WORK						
	LABOUR FOR BLOCK WORK (SQFT)	651.79	SQFT	43.00	28026.97	18	
45	TOWER C 4TH FLOOR 4.5" AAC BLOCK						
	MASONRY WORK						
	LABOUR FOR BLOCK WORK (SQFT)	7,885.92	SQFT	43.00	339094.56	18	_
46	TOWER C 4TH FLOOR RCC WORK FOR SLAB						
	LABOUR FOR RCC	651.79	SQFT	165.00	107545.35	18	
47	TOWER C 4TH FLOOR RCC WORK FOR SLAB						
	LABOUR FOR RCC	7,885.92	SQFT	165.00	1301176.80	18	
48	TOWER C 4TH FLOOR EXTERNAL DOUBLE						-
	COAT PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	7,885.92	SQFT	39.00	307550.88	18	
49	TOWER C 4TH FLOOR EXTERNAL DOUBLE						
	COAT PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	651.79	SQFT	39.00	25419.81	18	
50	TOWER C 4TH FLOOR INTERNAL MALA						
	FINISH PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	651.79	SQFT	43.00	28026.97	18	-
51	TOWER C 4TH FLOOR INTERNAL MALA						
	FINISH PLASTER WORK	7 005 03	COET	43.00	220004 57	40	
	LABOUR FOR PLASTER (SQFT)	7,885.92	SQFT	43.00	339094.56	18	-
52	TOWER C 5TH FLOOR 4.5" AAC BLOCK						
	MASONRY WORK LABOUR FOR BLOCK WORK (SQFT)	3.08	SQFT	43.00	132.44	18	
53	TOWER C 5TH FLOOR 4.5" AAC BLOCK	3.00	30, 1	43.00	132.44		-
J3	MASONRY WORK						
	LABOUR FOR BLOCK WORK (SQFT)	7,527.66	SQFT	43.00	323689.38	18	
54	TOWER C 5TH FLOOR RCC WORK FOR SLAB	,					-
	LABOUR FOR RCC	3.08	SQFT	165.00	508.20	18	
 55		3.00	3Qi 1	103.00	300.20	10	_
כנ	TOWER C 5TH FLOOR RCC WORK FOR SLAB	7 507 //	COFT	445.00	12.1207.2.00	40	
	LABOUR FOR RCC	7,527.66	SQFT	165.00	1242063.90	18	_
56	TOWER C 5TH FLOOR EXTERNAL DOUBLE						
	COAT PLASTER WORK	7 527 44	COET	39.00	202579 74	10	
57	LABOUR FOR PLASTER (SQFT)	7,527.66	SQFT	37.00	293578.74	18	-
57	TOWER C 5TH FLOOR EXTERNAL DOUBLE COAT PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	3.08	SQFT	39.00	120.12	18	
	EADOURT OR T EASTER (SQLT)	5.00	JQ1 1	37.00	120.12		_

	have pleasure in placing with you our Work order for per the instruction given by our site incharge.		,				
258	TOWER C 5TH FLOOR INTERNAL MALA						
	FINISH PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	3.08	SQFT	43.00	132.44	18	
259	TOWER C 5TH FLOOR INTERNAL MALA						
	FINISH PLASTER WORK LABOUR FOR PLASTER (SQFT)	7,527.66	SQFT	43.00	323689.38	18	
260		7,327.00	3QF1	43.00	323009.30	10	
200	TOWER C 6TH FLOOR 4.5" AAC BLOCK MASONRY WORK						
	LABOUR FOR BLOCK WORK (SQFT)	7,257.04	SQFT	43.00	312052.72	18	
261	TOWER C 6TH FLOOR RCC WORK FOR SLAB	·					
	LABOUR FOR RCC	7,257.04	SQFT	165.00	1197411.60	18	
262	TOWER C 6TH FLOOR EXTERNAL DOUBLE	1,201101					
	COAT PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	7,257.04	SQFT	39.00	283024.56	18	
263	TOWER C 6TH FLOOR INTERNAL MALA						
	FINISH PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	7,257.04	SQFT	43.00	312052.72	18	
264	TOWER C 7TH FLOOR 4.5" AAC BLOCK						
	MASONRY WORK	7.054.40	COET	43.00	202420 07	40	
2/5	LABOUR FOR BLOCK WORK (SQFT)	7,056.49	SQFT	43.00	303429.07	18	
265	TOWER C 7TH FLOOR RCC WORK FOR SLAB	7.057.40	COFT	445.00	4444220.05	40	
	LABOUR FOR RCC	7,056.49	SQFT	165.00	1164320.85	18	
266	TOWER C 7TH FLOOR EXTERNAL DOUBLE						
	COAT PLASTER WORK LABOUR FOR PLASTER (SQFT)	7,056.49	SQFT	39.00	275203.11	18	
267	TOWER C 7TH FLOOR INTERNAL MALA	7,030.17	JQ: 1	37,00	273203.11		
207	FINISH PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	7,056.49	SQFT	43.00	303429.07	18	
268	TOWER C 8TH FLOOR 4.5" AAC BLOCK						
	MASONRY WORK						
	LABOUR FOR BLOCK WORK (SQFT)	6,927.76	SQFT	43.00	297893.68	18	
269	TOWER C 8TH FLOOR RCC WORK FOR SLAB						
	LABOUR FOR RCC	6,927.76	SQFT	165.00	1143080.40	18	
270	TOWER C 8TH FLOOR EXTERNAL DOUBLE						
	COAT PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	6,927.76	SQFT	39.00	270182.64	18	
271	TOWER C 8TH FLOOR INTERNAL MALA						
	FINISH PLASTER WORK LABOUR FOR PLASTER (SQFT)	6,927.76	SQFT	43.00	297893.68	18	
272		0,927.70	3QF1	43.00	297093.00	10	
272	TOWER C 9TH FLOOR 4.5" AAC BLOCK MASONRY WORK						
	LABOUR FOR BLOCK WORK (SQFT)	6,879.49	SQFT	43.00	295818.07	18	
273	TOWER C 9TH FLOOR RCC WORK FOR SLAB	,					
	LABOUR FOR RCC	6,879.49	SQFT	165.00	1135115.85	18	
274	TOWER C 9TH FLOOR EXTERNAL DOUBLE	0,077.17	JQ: 1	103,00	1133113.03		
_, .	COAT PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	6,879.49	SQFT	39.00	268300.11	18	
275	TOWER C 9TH FLOOR INTERNAL MALA						
	FINISH PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	6,879.49	SQFT	43.00	295818.07	18	
276	TOWER C 10TH FLOOR 4.5" AAC BLOCK						
	MASONRY WORK						
	LABOUR FOR BLOCK WORK (SQFT)	6,920.32	SQFT	43.00	297573.76	18	

77	per the instruction given by our site incharge.						
277	TOWER C 10TH FLOOR RCC WORK FOR SLAB LABOUR FOR RCC	4 020 22	COET	145.00	11.41052.00	10	
278		6,920.32	SQFT	165.00	1141852.80	18	_
./0	TOWER C 10TH FLOOR EXTERNAL DOUBLE COAT PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	6,920.32	SQFT	39.00	269892.48	18	
79	TOWER C 10TH FLOOR INTERNAL MALA	<u> </u>	-				-
	FINISH PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	6,920.32	SQFT	43.00	297573.76	18	
280	TOWER C 11TH FLOOR 4.5" AAC BLOCK						_
	MASONRY WORK						
	LABOUR FOR BLOCK WORK (SQFT)	7,042.69	SQFT	43.00	302835.67	18	
281	TOWER C 11TH FLOOR RCC WORK FOR SLAB						
	LABOUR FOR RCC	7,042.69	SQFT	165.00	1162043.85	18	
282	TOWER C 11TH FLOOR EXTERNAL DOUBLE						
	COAT PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	7,042.69	SQFT	39.00	274664.91	18	_
283	TOWER C 11TH FLOOR INTERNAL MALA						
	FINISH PLASTER WORK	7.042.60	COLT	43.00	202025 7.7	40	
	LABOUR FOR PLASTER (SQFT)	7,042.69	SQFT	43.00	302835.67	18	-
284	TOWER C 12TH FLOOR 4.5" AAC BLOCK						
	MASONRY WORK LABOUR FOR BLOCK WORK (SQFT)	7,237.46	SQFT	43.00	311210.78	18	
285	TOWER C 12TH FLOOR RCC WORK FOR SLAB	7,237.10	30,1	13,00	311210.70		-
.03		7 227 44	COET	145.00	1104190 00	10	
.07	LABOUR FOR RCC	7,237.46	SQFT	165.00	1194180.90	18	-
286	TOWER C 12TH FLOOR EXTERNAL DOUBLE COAT PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	7,237.46	SQFT	39.00	282260.94	18	
287	TOWER C 12TH FLOOR INTERNAL MALA	.,					
.07	FINISH PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	7,237.46	SQFT	43.00	311210.78	18	
.88	TOWER C 13TH FLOOR 4.5" AAC BLOCK						
	MASONRY WORK						
	LABOUR FOR BLOCK WORK (SQFT)	7,506.44	SQFT	43.00	322776.92	18	
289	TOWER C 13TH FLOOR RCC WORK FOR SLAB						
	LABOUR FOR RCC	7,506.44	SQFT	165.00	1238562.60	18	
90	TOWER C 13TH FLOOR EXTERNAL DOUBLE						
	COAT PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	7,506.44	SQFT	39.00	292751.16	18	_
291	TOWER C 13TH FLOOR INTERNAL MALA						
	FINISH PLASTER WORK	7 506 44	COET	43.00	222774 02	10	
.02	LABOUR FOR PLASTER (SQFT)	7,506.44	SQFT	43.00	322776.92	18	-
292	TOWER C 14TH FLOOR 4.5" AAC BLOCK MASONRY WORK						
	LABOUR FOR BLOCK WORK (SQFT)	7,853.47	SQFT	43.00	337699.21	18	
93	TOWER C 14TH FLOOR RCC WORK FOR SLAB	,		-			-
	LABOUR FOR RCC	7,853.47	SQFT	165.00	1295822.55	18	
.94		7,033.47	ا ایکد	103,00	1273022.33	10	-
.7 4	TOWER C 14TH FLOOR EXTERNAL DOUBLE COAT PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	7,853.47	SQFT	39.00	306285.33	18	
95	TOWER C 14TH FLOOR INTERNAL MALA	,	-	· ·			-
. •	FINISH PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	7,853.47	SQFT	43.00	337699.21	18	

96	TOWER C 15TH FLOOR 4.5" AAC BLOCK						
	MASONRY WORK	0.202.00	COFT	42.00	25/1/0 00	40	
07	LABOUR FOR BLOCK WORK (SQFT)	8,283.00	SQFT	43.00	356169.00	18	_
97	TOWER C 15TH FLOOR EXTERNAL DOUBLE COAT PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	8,283.00	SQFT	39.00	323037.00	18	
98	TOWER C 15TH FLOOR INTERNAL MALA	·					_
	FINISH PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	8,283.00	SQFT	43.00	356169.00	18	
99	TOWER C 15TH FLOOR RCC WORK FOR SLAB						
	LABOUR FOR RCC	8,283.00	SQFT	165.00	1366695.00	18	
00	TOWER C 16TH FLOOR 4.5" AAC BLOCK						
	MASONRY WORK LABOUR FOR BLOCK WORK (SQFT)	8,800.61	SQFT	43.00	378426.23	18	
01	TOWER C 16TH FLOOR EXTERNAL DOUBLE	8,800.01	JQI I	43.00	370420.23	10	_
UI	COAT PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	8,800.61	SQFT	39.00	343223.79	18	
02	TOWER C 16TH FLOOR INTERNAL MALA						-
	FINISH PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	8,800.61	SQFT	43.00	378426.23	18	_
03	TOWER C 16TH FLOOR RCC WORK FOR SLAB						
	LABOUR FOR RCC	8,800.61	SQFT	165.00	1452100.65	18	_
04	TOWER C 17TH FLOOR 4.5" AAC BLOCK						
	MASONRY WORK LABOUR FOR BLOCK WORK (SQFT)	9,988.81	SQFT	43.00	429518.83	18	
05	TOWER C 17TH FLOOR RCC WORK FOR SLAB	7,700.01	30.	13.00	127310.03		-
	LABOUR FOR RCC	9,988.81	SQFT	165.00	1648153.65	18	
06	TOWER C 17TH FLOOR EXTERNAL DOUBLE	7,700.01					-
	COAT PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	9,988.81	SQFT	39.00	389563.59	18	
07	TOWER C 17TH FLOOR INTERNAL MALA						
	FINISH PLASTER WORK				100510.00		
	LABOUR FOR PLASTER (SQFT)	9,988.81	SQFT	43.00	429518.83	18	-
80	TOWER C TERRACE RCC WORK FOR SLAB						
	LABOUR FOR RCC	1,263.34	SQFT	165.00	208451.10	18	-
09	TOWER C TERRACE RCC WORK FOR SLAB	F7 F/	COFT	445.00	0.407.40		
40	LABOUR FOR RCC	57.56	SQFT	165.00	9497.40	18	-
10	TOWER C TERRACE 4.5" AAC BLOCK MASONRY WORK						
	LABOUR FOR BLOCK WORK (SQFT)	57.56	SQFT	43.00	2475.08	18	
11	TOWER C TERRACE 4.5" AAC BLOCK						-
	MASONRY WORK						
	LABOUR FOR BLOCK WORK (SQFT)	1,263.34	SQFT	43.00	54323.62	18	
12	TOWER C TERRACE INTERNAL MALA FINISH						
	PLASTER WORK	4 242 24	COET	42.00	E 4222 42	10	
13	LABOUR FOR PLASTER (SQFT)	1,263.34	SQFT	43.00	54323.62	18	_
13	TOWER C TERRACE INTERNAL MALA FINISH PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	57.56	SQFT	43.00	2475.08	18	
14	TOWER C TERRACE EXTERNAL DOUBLE COAT						-
	PLASTER WORK						
	LABOUR FOR PLASTER (SQFT)	57.56	SQFT	39.00	2244.84	18	

We have pleasure in placing with you our Work order for the following contract kindly execute the work as per the instruction given by our site incharge. 315 TOWER C TERRACE EXTERNAL DOUBLE COAT PLASTER WORK LABOUR FOR PLASTER (SQFT) 1,263.34 **SQFT** 39.00 49270.26 197484210.62 Contract Amount (A) 35547157.90 Total GST (B) Total (A + B) 233031368,52

Terms & Conditions

SAFETY TERMS

- 1) Work Compensation (WC) Policy is a must for every contractor.
- 2) Required all their laborers Aadhar card copy and Passport size Photo.
- 3) All PPES in Contractor Scope.
- 4) TPI (Third Party Inspection) Certificate must for their Machineries which they install on our site.
- 5) Every Quarterly they must submit a service report of their respective machines to the site incharge.
- 6) Contractor has to maintain enough lighting during night work at site.
- 7) Debit Note Policy will be applicable if the contractor failed to maintain the safety norms
- * All responsibilities of goods during transportation and unloding at site by supplier and vendors.
- * Please submit your Bill/invoice along with delivery challan and PO copy in favour of Neptune Realty Pvt. Ltd. At project site office officialy.
- * Biling amount should not exceed the rate and total value mentioned in this WO.
- * Failure to comply with specification, terms and conditions of this order or accepted delivery. schedule shall be sufficient grounds for cancellation of order by purchase with out being liable.

Fo	r NEPTUNE REALTY PVT. LTD.			
— Au	thorized Signatory			
Au	thorized dignatory			